WHAT IS HEAVY FORWARD BUT NOT BACKWARD?
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Shade in the area containing each solution.

1. x+ 3(x+ 4) =20 2. 6(y—-1) +8 =32 3.5+4(n+9) = -

4. 5(k — 2) — 8k = -34 5.2=11+ 3(m + 3) 6. 2(p—-5)+7p=-5

7.4a - 2(a+9) =6 8.7 -4(d-3) =23 9.8x— 11(x — 2) = -

10. 5 =6(q— 5) — 19 1M.38-y) +1=31 12. 5(2v + 4) = 170

13. 5(4n — 4) = -60 14. 2(3t — 8) — 4t = 10 15.9 —4(2p — 1) = 45

16. Write an equation and X+4 17. Write an equation and 3x— 1
solve for x if the area 2 B . solve for x if the area Aipe vl
of the rectangle is 70 |" of the rectangle is 55 9| = *& %
square units. square units.
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How Can You Visit the Oun Without 8

Solve each problem, then cross out the letter next to the correct answer.
When you're finished. the answer to the title question will remain.
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1 5(x-9)=2x+ 15 2 7n-20=9(4n + 1)
X T 3
8 The square and the triangle '
have equal perimeters. X X
A. Find the value of x. T 1
B. Find the perimeter. 1
8

4 The equilateral triangle and the
rectangle have equal perimeters.

A. Find the value of x. X
B. Find the perimeter.

X+5 2x = 3

5§ The Red Bus Company charges $150 plus $72 per hour to rent
a bus. The Blue Bus Company charges $240 plus $54 per hour.

A. For what number of hours would the companies charge
the same?

B. What would the charge be for that number of hours?

6 Suppose it is 40° inside your refrigerator and 340° inside your
oven when the power goes out. The refrigerator temperature
starts rising at the rate of 5° per hour. The oven temperature
starts dropping at the rate of 45° per hour.

A. How long will it take for the temperatures to be the same?
B. What will the temperature be then?

7 Suppose you write a book. The printer charges $4 per book to
print it, and you spend $5500 on advertising. You sell the book
for S15 a copy.

A. How many copies must you sell to break even (total cost
equals income from sales)?

B. What is your income (or costs) for that many copies?
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